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What is the value of 44 x 12 - (25 +
13 x 10)?

44 x 12 - (25 + 13 x 10) &7 A19 fHa=n

B2

1) 613

2) 633
3) 573
%) 373




1 2X

If x+—-=05, then
X ! 3x%> —5x+3

is equal to
(1)5(2): (3)3(4)3
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A Person purchased an article for 7500 Rs. At

what price should he sell to obtain a profit of 20%
()

T AT 7 7500 UF | Teh I T@HET | 20% T
mmwﬁﬁ:maﬁﬁmn—améﬂmaﬁq

1)8000 2)7800
3)9000 4)9200
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A and B can do a work in 12 days, B and

C can do the same work in 15 days, and
C and A can do the same work in 20

days. A will complete the work alone in :

A 3R B Ueh &1 o 12 7o & ar &=t | B
IMCIMHA R 15T C IR AIT
TR kT 20 0T W 3R T foreae vw
T AT A T foha a7 & tehet QU BT 2
1) 20 days 2)28 days

3) 12 days 4) 30 days
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The sum of Ajay’s and Vijay’s age is 40

years. 10 years later the ratio of their ages
will be 5 : 7 respectively. What was the
ratio of their ages 10 years before?

ST 3R Forera T ST T ART 40 AT 7 1 10
Y STg IThT 3T hT SATUTA THAI: 5:7 &Y
SATQT 10 T UEET SAehT ST T ATUATA T
qT?

1) 3:1 2)1:3

3)2:3 HNOT
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The speed of the boat in still water is 10
kmph and speed of river is 5 kmph. Boat

takes a total of 16 hrs to go to a place and
come back. What is the total distance

covered in the whole process?

3BY B UTHT | ATl To Tt 10 feredt Wi we
2 TR a1 <l T 5 TeRHT Ul & 81 19 Uk
TYT Tk A TR T SA10E AT H Hel o
shat § a3 %1 TE et g4 fehaet 5 2

1) 60km  2)120 km

3) 90 km 4) 30 km




In what proportion must wheat
of Rs 36.30 and Rs 37.10 should
be mixed so that the mixture is

of worth Rs 36.60?
36.30 TUY AT 37.10 T <k TTE <kl Teh

FAUTA | THATAT [HT AR dlich THA0T
36.60 T Hed T BT AT ?

1. 6:5 2.5:3
3.3:5 4.5:6
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A shopkeeper increases the mark
up by 50 % and then allows a
discount of rs. 50 . If he received
the profit of 25% then find the

selling price.

Uh ShlAGR HATh Pl 50% el
&l & 3R AT 5030 &1 B
&ar &1 Ifg 38 25% 1 A
UTg BT § o e Heg dra
HITAT|

1)200 2)250 3)150
4) 120




The height of triangle is equal to
the side of the square whose

diagonal is 18 V2 .if the area of
triangle is 108 cm? what will be the

base of triangle.

sr &1 Fars 39 g9 hHr o

$ SRR & Togar Taeor 182
ol I ST &1 &1l 108
|2%<‘-ﬁﬁr&o1 T 3TUR T

%W|

1)10cm 2)12cm 3)15cm 4) not
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A man invested some amount P at the
rate of 20% for 2 years compounded
annually gives Rs.792 as interest . Find
the value of P.

Uh b o A PAT 20% T
ey ¥ 2 aul & forw [aer rar, o
fp o &7 & AT 9d @ S.
792 <TTST & ®T H T &| Pl

H

cl 3l

1)1500

3) 1600

g hITaT|
2)1800
4)NOT




A mix contains 100 liter milk and 40
liter water . If the milkman added 40
| water then find the new ratio of
milk and water ?

Teh fAHOT #H 100 ofie g 3R
40 ofleT UTAT g1 TS guarel
40 Wi UTEdl Srell df gy 3R
UTAT &1 AT 37qurd <1d hiiarar?
A)3: 5 b)5:4  ¢)3:5 d)4:5
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18.43x18.43-6.57x6.57 __
11.86 ‘
&

A) 23.62 B) 25
C) 26 D) 24.12




What is the simplified value of: 7%+ 2% of '1%— (% + - X

7-+2-= aflz—(5+1x 13)—i DI A PN |
3 2 5 o !

4 24

A) 9 B) 1 C) 0.9 D) 0.09
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A sum of 8,200 was divided among A,
and C in such a way that A has ¥500 more
than B and C has 300 more than A. How

much was A's share (in %)

8,200 <h! TITHT A, B 3T C W 3H TR
feriRra feraTr =T fof A S U B 91 2500

N\

3T7ereRh 3T C o UTd A T T300 37f2reR 2l A
T 28T TohaAT o7 (T H)

(a) 2,300 (b) 3,100

(¢) 2,800 (d) 2,000




If the surface area of a cube
is 13254 cm?, then the
length of its diagonal is

a)44v2 cm
b)48V3 cm
c)47Vv2 cm
d)47v3 cm
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The sum of 20 positive integers is
400. Find out the sum of 10 such
numbers whose average are 5 more
than the average of these 20
humbers.

20 YeTTcdAD YU T AT 400
S 10 UHET IEITAT BT AT AT
AT S sitae g 20
&Il & Ed 9 5 JAF &
a)120 b)120

c) 250 d)160




Direction : Read the following table carefully and answer the questions given below.

T fdr : FaforRaa awoft @61 samuden steaamet e a9 T weit & SR AR
Population of three states in different years (in lakhs) / Tt e W @l@ ‘ﬁ‘) T =T AT ST

StateNear 2009 2010 2011 2012 2003
A by 48 32 a4 o8

B 3 M 3 4]
C o6 0 a8 63 66




What is the percent increase in population of state B from years
2009 to 2010 ?

9 2009 T 2010 H 7T B ht SeEar § foraw wfawa afg g3 2

01. 12 02. 13.6 03. 14.2 04. 12.5

StateYear 2009 21 212
A 4.5 . 0. o4

B 3.2 . 34 38
0 0.6 . 08 63




What is the ratio of total population of all the three states in the year 2012 and 2013 ?
T 2012 3T 2013 AT TSAT T HeT FATHTEAT o S T ST 872
01.31:33 02.31: 34 03.31:32 04. 32 : 35

StateYear 2009
A 45

B 3.2
0 0.6




Rohit saves 20% of his income. If his
expenditure increases by 12 % and his
Income increases by 27%, his savings
increase by:

A T AT AT H 20% IO §1 I8 IHF T T
H121i% & a@ Sl g MR ITR AT H 27%
® g8 St e, A ITR FUA HB T @ A

-

@

1) 82.5%
2) 85%
3) 165%
4)17%




A can do a piece of work in 4 hours, B and
C together in 3 hours,and Aand C
together in 2 hours. How long will B alone
taketodo it ?

A TS $TH 4 0 | HT TPl ¢, 81 T B AR C
e 3 ¢ 8 &Y GPd ¢ adT A 3R ¢ frday 2
ie ®§ Y Udd ¢, al B T 98 FTH Idd HY A
fhaq ge a2




The price of cooking oil has increased by 25%.
The percentage of reduction that a family
should effect in the use of cooking oil, so as not
to increase the expenditure in this account, is

@ TS & dd S g § 25% P! gf 88 &1 @1

UHTH & dd & IuanT ¥ v uRaR &) fFa ufawe
Herdl -1 ey, a1 g9 T § g # gfg T 82

1) 15%

2) 20%
3) 25%
4) 30%




After getting two successive discounts. a
shirt with a list price of Rs. 150 is available
at Rs.105. If the second discount is 12.5%.
find the first discount?

UH ¢ forasT gatas o0 150 UA 8 @)

IR el & d1g 105 T TR Juasy g1 fe
U BC 12.5% ©, a1 Ugdt Je J1d DI

1) 15%
2) 20%
3) 25%
4) 17%




» -

. 10% loss if a watch is sold
for I1440. At what price it is to be
sold to get 15% profit?

TP USl Hl 1440 H 999 GT 10%

P! g gl 21 39 fFaa sud & =7
ST P 15% T ATH 812

1) 1860
2) 1800
3) 1840
4) 21850




A shopkeeper sells a product for Rs 2,673
and earns 12.5% profit on it. How much will
the half of the purchase price of that item be
equal to? (In rupees)

U% GHTER TP IAG Pl 2,673 3UA § a9a1 § IR
39 WX 12.5% BT ATH AHfofd Har g1 39 a&] B
YT Y Yo fba & avray ghm? (39l 9)

1) 1,177
2) 1,188
3) 1,166
4) 1,199
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The ratio of number of men and women in
a ice-cream factory of 840 workersis 5: 7.
How many more men should be joined to

make the ratio1:1?

840 US| B TS ATSHHIH Bag! A goul 3R
gfgans S ST HT AFUTa 5: 7 2| 1:1
g9 & foe fea= sfafyea gouf +t far

ST 918 T2

1) 220
2) 280
3) 170
4) 140




Mr.Peter borrowed some money at a
simple interest of 5% per annum. He repaid
Rs. 13,200 after 4 years. Find the sum he
borrowed.

ey 9o A 5% ufd ad 91 27 ] YR AT

W $T I IUR forg| 397 4 ad a1 13,200 T4
gHTT | 394 o 0¥ IuR fore 2, a8 v=af g
PioTg |

1) Rs. 20,000 / 20,000 394
2) Rs. 11,000 / 11,000 ¥9Q

3) Rs. 12,000 / 12,000 ¥94
4) Rs. 22,000 / 22,000 ¥9d




\t the same amount, the difference between
compound interest and ordinary interest
amount received in two years at the interest
rate is 64 rupees. If the interest rate is 4%
annual, then calculate the amount invested (in
Rs.)

AGLIR:
G153 |

S IR U7, O ST U
3T "IYTROT TS IR H
T ST 4% arfd® ©, a1 g
TTOTHT &1 |

1) 44,000
2) 46,000
3) 42,000
4) 40,000




The table given below shows the number of students

Jjoining in 6 different universities

Universities Students

275
215
350
250
450
170
What is the ratio number of students joining in university

A to the number of student joining in university F?

1)17:39
2) 51:37
3) 34: 5]
4) 55:34




x*—x+1 2

if

x2+ic+1 3
If x +— s equal to

(1) 5 (2) 4(3)6(4)8







